4/15/2017 QUALIFY 03.03 - Junior - Q 2,9 éme SNELHEID CROIX EN TERNOIS, chronolux4, Belgium - Official Event Results, MYLAPS Speedhive
< 9 éme SNELHEID CROIX EN TERNOIS > 03 SBK - 03.03 ...

03.03 - Junior - Q 2

Bike@Lengte omloop :(Belgium)+15 April 2017by chronolux4

Length 1.9000 Km

Best lap 14 (00:55.597)

Best Speed 123.028 Km/h

By Competitor Stuyck Ben

Pos Competitor Diff Laps Best time  Best lap Best Speed
1 9_4 Stuyck Ben 0.000 20 55.597 14 123.028 Km/h

B 2 ; Galens Steven 0.013 16 55.610 16 122.999 Km/h
B 3 E Gerard Pierre 0.283 10 55.880 6 122.405 Km/h
B 4 g Pauwels Bjorn 0.503 26 56.100 26 121.925 Km/h
o 5 g Nirmal Singh Nindy 1.186 12 56.783 11 120.459 Km/h
- 6 ; Claeys Frank 1.272 1" 56.869 6 120.276 Km/h
- 7 g Van Herzele Kevin 1.324 18 56.921 9 120.167 Km/h
- 8 E Mention Didier 1.372 16 56.969 1 120.065 Km/h
- 9 ; Godinas Joel 1.767 24 57.364 24 119.239 Km/h
- 10 _6 Mertens Joeri 1.849 19 57.446 7 119.068 Km/h
- 1 ; Bonafede Joefrey 1.917 18 57.514 17 118.928 Km/h
N 12 E Polet Jean-Pierre 2.682 20 58.279 19 117.366 Km/h
N 13 z Jamin Dominique 4.497 23 1:00.094 18 113.822 Km/h
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